
Déterminer les primitives pour chacune des fonctions suivantes

1L ‡
2 x + 3

2 x + 1
„ x

2L ‡ Hx + 1L2 „ x

3L ‡
1

3 + 2 x
„ x

4L ·
x

x
2 + 1

„ x

5L ·
x + lnHxL

x

„ x

6L ‡
x

x
2 + 1

„ x

7L ‡
x

x
2 - 5

„ x

8L ‡
x

2 x2 + 3
„ x

9L ·
x

1 - x4

„ x

10L ‡
x
2

1 + x6
„ x

11L ‡ ‰
-2 x

„ x

12L ‡ H‰x - ‰
-xL „ x

13L ‡ x ‰x
2+1

„ x

14L ‡ x 7x
2

„ x

15L ‡
‰x - 1

‰x
„ x

16L ‡
‰x

‰x - 1
„ x

17L ‡ cosH5 xL „ x

18L ‡
x

cos2Ix2M
„ x

19L ‡ tgHxL „ x

20L ‡ x ‰-x
2

„ x
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21L ‡
1 - sinHxL

x + cosHxL
„ x

22L ‡ cosHxL ‰sinHxL „ x

23L ‡ sinHxL ‰cosHxL „ x

24L ‡ Ix2 + xM I2 x3 + 3 x2 + 5M6 „ x

25L ‡ 3 sinH3 xL „ x

26L ‡
1

1 + H4 x + 2L2
„ x

27L ‡ x sinHxL cos2HxL „ x

28L ‡ x Hx - 3L7 „ x

29L ‡ 2 x cosHxL „ x

30L ‡
3 x

3 + x
„ x

31L · -

x
2

I1 + x2M2
„ x

32L ‡ I2 x2 - xM I4 x3 - 3 x2 - 7M4 „ x

33L ·
1

1 - 9 x2

„ x

34L ‡
Arccotg2HxL

1 + x2
„ x
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† Solutions

1L ‡
2 x + 3

2 x + 1
„ x = x + lnH†2 x + 1§L + k

2L ‡ Hx + 1L2 „ x =
1

3
Hx + 1L3 + k

3L ‡
1

3 + 2 x
„ x =

lnH†2 x + 3§L

2
+ k

4L ·
x

x
2 + 1

„ x = x
2
+ 1 + k

5L ·
x + lnHxL

x

„ x =

ln2HxL

2
+ 2 x + k

6L ‡
x

x
2 + 1

„ x =

lnI°x2 + 1•M

2
+ k

7L ‡
x

x
2 - 5

„ x =

lnI°x2 - 5•M

2
+ k

8L ‡
x

2 x2 + 3
„ x =

lnI°2 x2 + 3•M

4
+ k

9L ·
x

1 - x4

„ x =

ArcsinIx2M

2
+ k

10L ‡
x
2

1 + x6
„ x =

ArctgIx3M

3
+ k

11L ‡ ‰
-2 x

„ x = -

1

2
‰
-2 x

+ k

12L ‡ H‰x - ‰
-xL „ x = ‰

-x
+ ‰

x
+ k

13L ‡ x ‰x
2+1

„ x =

‰x
2+1

2
+ k

14L ‡ x 7x
2

„ x =

7x
2

lnH49L
+ k

15L ‡
‰x - 1

‰x
„ x = x + ‰

-x
+ k

16L ‡
‰x

‰x - 1
„ x = lnH†1 - ‰

x§L + k

17L ‡ cosH5 xL „ x =
1

5
sinH5 xL + k

18L ‡
x

cos2Ix2M
„ x =

tgIx2M

2
+ k

19L ‡ tgHxL „ x = -lnH†cosHxL§L + k

20L ‡ x ‰-x
2

„ x = -

‰-x
2

2
+ k
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21L ‡
1 - sinHxL

x + cosHxL
„ x = lnH†x + cosHxL§L + k

22L ‡ cosHxL ‰sinHxL „ x = ‰
sinHxL

+ k

23L ‡ sinHxL ‰cosHxL „ x = -‰
cosHxL

+ k

24L ‡ Ix2 + xM I2 x3 + 3 x2 + 5M6 „ x =
1

42
I2 x3 + 3 x2 + 5M7 + k

25L ‡ 3 sinH3 xL „ x = -cosH3 xL + k

26L ‡
1

1 + H4 x + 2L2
„ x =

1

4
ArctgH4 x + 2L + k

27L ‡ x sinHxL cos2HxL „ x =
1

36
H-9 x cosHxL - 3 x cosH3 xL + 9 sinHxL + sinH3 xLL + k

28L ‡ x Hx - 3L7 „ x =
1

9
Hx - 3L9 +

3

8
Hx - 3L8 + k

29L ‡ 2 x cosHxL „ x = 2 HcosHxL + x sinHxLL + k

30L ‡
3 x

3 + x
„ x = 2 Hx - 6L x + 3 + k

31L · -

x
2

I1 + x2M2
„ x =

x

2 Ix2 + 1M
-

ArctgHxL

2
+ k

32L ‡ I2 x2 - xM I4 x3 - 3 x2 - 7M4 „ x =
1

30
I4 x3 - 3 x2 - 7M5 + k

33L ·
1

1 - 9 x2

„ x =

1

3
ArcsinH3 xL + k

34L ‡
Arccotg2HxL

1 + x2
„ x = -

Arccotg3HxL

3
+ k
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